THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION October 14, 2020

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on October 14, 2020 at 6:00 p.m.

Members present: Inger Germano, President

Irene Gische, Vice President Deanna Bavlnka, Trustee William F. Connors, Jr., Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee

Vincent Vizzo, Trustee

Members absent:

Also present: Cheryl Pedisich, Superintendent

Jeffrey Carlson, Deputy Superintendent

Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Jesse Behar, Student Representative to the Board

Visitors

CALL TO ORDER Ms. Germano called the meeting to order at 6:00 p.m.

MOVE INTO EXECUTIVE SESSION On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION

The meeting reconvened into open session at 7:38 p.m. Mrs. Pedisich led the pledge of

allegiance.

CHANGES IN THE MEETING AGENDA Replacement Page:

• Item Q.1 – Instructional Personnel – Schedule A.6

STUDENT RECOGNITION

Students who acted as Math Mates Tutors were recognized.

BOARD OF EDUCATION RECOGNITION

The Board of Education, District Clerk, and Student Representative were recognized for Board

of Education Appreciation week.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

MINUTES

Minutes of August 26 and September 16, 2020

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 7-0-0 vote, the Board

accepted the minutes as presented.

REPORTS

Student Representative Jesse Behar reported on recent student events.

Report
Independent

Joe Kemp and Tom Smith of EFPR presented the Independent Auditor's Report.

Auditor's Report

There were no Items for Board Discussion.

ITEMS FOR BOARD DISCUSSION

ITEMS FOR BOARD ACTION

NYSSBA Annual Meeting Proposed Resolutions

Mrs. Gische recommended that the Board vote on the NYSSBA resolutions in accordance with the Nassau-Suffolk School Boards Association's recommendations.

On motion by Dr. Kerman, seconded by Mr. Connors, and carried by a 7-0-0 vote, the Board voted to support the NYSSBA resolutions in accordance with the Nassau-Suffolk School Boards Association's recommendations.

Revision to 2020-2021 School Calendar

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education adopt the revised 2020-2021 calendar.

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Response to Intervention/ Academic Intervention Plan 2020-2021

Mr. Scanlon presented the plan.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board accepted the plan.

Revision to 2020-2021 Appointments of Impartial Hearing Officers

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the list that includes an addition and a deletion of an eligible impartial hearing officer, submitted by New York State Department of Education, to conduct special education impartial hearings for the 2020-2021 school year.

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Independent Auditor's Report

Be it RESOLVED that the Board of Education accept the report of the district's Independent Auditor, EFPR Group, CPAs, for the 2019-2020 school year.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Outside Service Provider for Special Educational Services

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the Consultant Services Contract for special educational services for the 2020-2021 school year with the following provider:

• Theralympic Speech Therapy

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Addendum to Contract with Outside Service Provider for Special Educational Services

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve an addendum to the previously approved Consultant Services Contract for special educational services with the following provider:

• LIDC Services

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A donation of \$735.00 from the TeleTutors to our Food Pantry to help support the needs of the Three Village community.
- A donation of \$1,200.00 in gift cards from Meals on Wheels to our Food Pantry to help support the needs of the Three Village community.
- A Wissner/Janssen piano donated by Michael Heming to the Ward Melville High School's Music Department.

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

Item Description	<u>Model</u>	Serial #	Three Village #	Condition	Location
1/4 Bass	Cremona	120029	AH 12	Poor	Arrowhead- Music Dept
Tenor Saxophone	Bundy	912617	19	Poor	Gelinas- Music Dept
Single French Horn	Conn	321359	N/A	Poor	Nassakeag- Music Dept

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Recalling Excessed Teaching Assistants Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the Board of Education recalls the following employees, to wit:

Name <u>Job Title</u>
Peter Ryan Teaching Assistant

Mr. Ryan was excessed at the June 24, 2020 Board of Education meeting and was recalled to a one-year leave of absence teaching assistant position, effective September 1, 2020. Mr. Ryan is now being recalled to a probationary position due to the resignation of Vincent Oliver.

Nicole Russolillo Teaching Assistant

Ms. Russolillo was excessed at the June 24, 2020, Board of Education meeting and was recalled to a one-year leave of absence position, effective September 1, 2020. Ms. Russolillo is now being recalled to a probationary position due to the creation of a new Math AIS teaching assistant position.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of
Memorandum of
Agreements
between the Three
Village Central
School District
and the Three
Village Teachers
Association
Regarding
Addition of
Coaching Stipend

RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Memorandum of Agreement between the Board of the Three Village Central School District, and the Three Village Teachers Association amending the collective bargaining agreement to add the title "JV Golf Coach" to Appendix C-5 with a stipend of \$5,206, and authorizes the Superintendent of Schools to execute such Agreement. The collective bargaining agreement, remaining in effect, except where modified by the Memorandum of Agreement, for the term of July 1, 2016 to June 30, 2021.

On motion by Mr. Connors, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the Agreements between the Three Village Central School District, The Three Village Teachers Association, and the Employee Named in Confidential Schedule "A" Be it RESOLVED that the Agreements with the Three Village Central School District, the Three Village Teachers Association, and the employees named in the attached confidential Schedule "A" are hereby approved; and the Board President is authorized to execute the same.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the Agreements between the Three Village Central School District, the Three Village Teachers Association, and the Employees Named in the Confidential Schedule "B"

Be it RESOLVED that the Agreements with the Three Village Central School District, the Three Village Teachers Association, and the employees named in confidential Schedule "B" regarding one-year temporary employment, are hereby approved; and the Board President is authorized to execute the same

On motion by Mr. Connors, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Date of Hire
Cassata, Danielle	Arrowhead/ Teaching Assistant/ 1 year Substitute Teacher	10/2/20	7/1/14
Fiore, Elizabeth	1 year Substitute Teacher	10/2/20	9/1/20
McFaul, Karen	Setauket/Leave Replacement Permanent Substitute Teacher	10/9/20	9/1/20

LEAVES OF ABSENCE

Name	School/ Assignment	<u>Effective</u>	Reason	<u>Tenured</u>
LaCapria, Melissa	Murphy JHS/ Special Education Teacher	12/1/20 – 6/30/21	Unpaid	Yes
Larochelle, Christopher	Nassakeag/ Physical	9/1/20 -	Unpaid	Yes
	Education Teacher	6/30/21		
O'Boyle, Jennifer	Setauket/ Teaching Assistant	9/30/20 – 6/30/21	Unpaid	No
Ramos, Darla	Arrowhead/ Teaching	9/12/20 —	Unpaid	No
	Assistant	6/30/21		
Shaw, Jacqueline	Murphy JHS/ English	12/1/20 —	Unpaid	Yes
	Teacher	6/30/21		

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Leave Replacement Teaching Assistant Hunter, Donna

Adelphi University – BS, MA Previous Tenure – No

Related to current employee – No Salary Step 1/Level III - \$29,792 (pro-rated) Effective: 9/12/20 – 6/30/21

This is a one year, leave replacement appointment effective 9/12/20 - 6/30/21. This appointment is due to the leave of absence of Darla Ramos. Ms. Hunter will be assigned to Arrowhead Elementary School for the 2020-2021 school year. Ms. Hunter is currently working in the District and fingerprint clearance for employment is on file.

Pepe, Lauren Social Worker

St. Joseph's College – BA SUNY Stony Brook - MSW Previous Tenure – No

Related to current employee - No

Salary: Step/Level 3/MA Effective -9/1/20

This is to amend Ms. Pepe's salary to step 3. Ms. Pepe was previously approved at the Board of Education meeting held on September 16, 2020.

Pontes, Ana Leave Replacement One-year, Part-Time

Permanent

Substitute Teacher 80% Position

St. Joseph's College – BA Previous Tenure - No

Related to current employee - No

Salary: Step $1/BA - \$56,259 \times .8 = \$45,007 \text{ (pro-rated)}$

Effective: 10/13/20 - 6/30/21

This is a leave replacement one-year, part-time (not to exceed 4 days per week) appointment, effective 10/13/20 - 6/30/21. This appointment is due to the resignation of Karen McFaul and leave of absence of Donna Sheprow. Ms. Pontes was emergency appointed by Ms. Cheryl Pedisich, Superintendent of Schools. Ms. Pontes will be assigned as to Setauket Elementary School for the 2020-2021 school year. Fingerprint clearance for employment is on file.

Minutes of October 14, 2020

Risucci, Amy Leave Replacement Teaching Assistant

Brooklyn College – BA Previous Tenure – No

Related to current employee - No Salary Step 1/Level III - \$29,792 (pro-rated)

Effective: 10/1/20 - 6/30/21

This is a one year, leave replacement appointment effective 10/1/20 - 6/30/21. This appointment is due to the leave of absence of Jennifer O'Boyle. Ms. Risucci will be assigned to Minnesauke Elementary School for the 2020-2021 school year. Ms. Risucci is currently working in the District and fingerprint clearance for employment is on file.

Russolillo, Noelle

Teaching Assistant Previous Tenure – No

Related to current employee - Yes Salary Step 1/Level 1 - \$24,833 (pro-rated)

Effective: 10/15/20

This is a continuing probationary appointment effective 10/15/20. This appointment is due to the addition of a new teaching assistant mathematics AIS position. Ms. Russolillo was excessed at the Board of Education meeting held on July 8, 2020 and is being recalled at the Board of Education meeting held on October 14, 2020. Ms. Russolillo is the daughter of Grasiela Russolillo, Teaching Assistant at Setauket Elementary School. Ms. Russolillo will be assigned to Murphy Junior High School for the 2020-2021 school year. Fingerprint clearance for employment is on file.

Ryan, Peter Teaching Assistant

Western Govenors University – BA Previous Tenure – No

Related to current employee - Yes Salary Step 2/Level III - \$30,999 Effective: 9/1/20

This is a continuing probationary appointment effective 9/1/20. This appointment is due to the resignation of Vincent Oliver. Mr. Ryan was excessed at the Board of Education meeting held on July 8, 2020 and is being recalled at the Board of Education meeting held on October 14, 2020. Mr. Ryan is the husband of Darlene Ryan, Guidance Counselor at The Three Village Academy. Mr. Ryan will be assigned to Ward Melville High School for the 2020-2021 school year. Fingerprint clearance for employment is on file.

Schneider, Amanda One-year, Part-Time Permanent

> Substitute Teacher 80% Position

St. Joseph's College - BA Hofstra University – MA Previous Tenure - No

Related to current employee - No

Salary: Step $1/BA - \$56,259 \times .8 = \$45,007 \text{ (pro-rated)}$

Effective: 10/13/20 - 6/30/21

This is a one-year, part-time (not to exceed 4 days per week) appointment, effective 10/13/20 -6/30/21. This appointment is due to an increase in permanent substitute positions. Ms. Schneider was emergency appointed by Ms. Cheryl Pedisich, Superintendent of Schools. Ms. Schneider will be assigned to Setauket/Arrowhead Elementary Schools for the 2020-2021 school year. Fingerprint clearance for employment has been received.

Sheprow, Donna One-Year, Leave Replacement Elementary Teacher

St. Joseph's College - BA Long Island University – MS Previous Tenure - No Related to current employee - No

Salary: Step/Level 1/MA Effective: 9/1/20 – 6/30/21

This is a one-year leave replacement appointment effective 9/1/20 - 6/30/20. This appointment is due to the leave of absence of Colleen Maier. Ms. Sheprow is the sister of Robert Connolly, a Physical Education Teacher at Arrowhead and the sister-in-law of Erin Connolly, the Executive Director of Student Services and Community Partnerships. Ms. Sheprow will be assigned to Setauket Elementary School for the 2020-2021 school year. Ms. Sheprow is currently working in the District and fingerprint clearance is on file.

Wentz, Michelle Leave Replacement Teaching Assistant

Queens College – BA Long Island University – MS Previous Tenure – No

Related to current employee - No

Salary Step 1/Level III - \$29,792 (pro-rated) Effective: 10/5/20 – 6/30/21

This is a one year, leave replacement appointment effective 10/5/20-6/30/21. This appointment is due to the leave of absence of Jenna Olcott. Ms. Wentz will be assigned as a Remote Teaching Assistant for the 2020-2021 school year. Ms. Wentz is currently working in the District and fingerprint clearance for employment is on file.

New Probationary Teachers:

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teachers

Cassata, Danielle

Ms. Cassata resigned from her TA position and asked to be put on the Substitute Teacher list. She was approved by Ms. Pedisich for emergency appointment. Fingerprints are on file.

Cleary, Katherine

Ms. Cleary was approved by Ms. Pedisich for emergency appointment to be a 1 Year Teacher Substitute. Fingerprints are on file.

Connolly, Kevin

Mr. Connolly was approved by Ms. Pedisich for emergency appointment to be a 1 Year Teacher Substitute. Fingerprints have been received.

Isom, Joseph

Mr. Isom was approved by Ms. Pedisich for emergency appointment to be a 1 Year Teacher Substitute. Fingerprints have been received.

Liguori, Christine

Ms. Liguori was a .6 teacher and is appointed as a 1 Year Teacher Substitute. Fingerprints are on file.

O'Boyle, Jennifer

Ms. O'Boyle is a taking a 1 year leave from her Teaching Assistant position to be a 1 Year Teacher Substitute. Ms. O'Boyle was approved by Ms. Pedisich for emergency appointment. Fingerprints are on file.

Ryan, Erin

Ms. Ryan was approved by Ms. Pedisich for emergency appointment to be a 1 Year Teacher Substitute. Fingerprints have been received.

Sacco, Lisa

Ms. Sacco was previously approved as a Substitute Teacher and will now be a 1 Year Teacher Substitute retroactive to 9/8/2020. Fingerprints are on file.

Savino, Danielle

Ms. Savino was approved by Ms. Pedisich for emergency appointment to be a 1 Year Teacher Substitute. Fingerprints have been received.

Szybkowski, Dawn

Fingerprints have been received.

Substitute Teaching Assistants

Endres, Michelle

Ms. Endres is currently working in the District as a substitute monitor. Fingerprints are on file.

Kearns, Deborah

Ms. Kearns is currently working in the District as a substitute monitor. Fingerprints are on file.

Substitute Nurse

Alvarez, Nicole

Fingerprints have been received.

APPOINTMENTS OF WINTER COACH POSITIONS

Name	Building	Assign- ment	Effec- tive	<u>Step</u>	Year at Step	Total Years	<u>Stipend</u>	Status	Coaching Dates	
Junior High	Coaches									
Lombardo, Jamie	Gelinas	Cheerle ading 7/8	Early Winter	1	1	1	\$4,998.00	Out of District	1/4/21- 2/6//21	
Shay, Stephanie	Murphy	Girls Soccer 7/8	Fall	2	1	3	\$5,163.00	In- District	3/22/21- 5/8/21	
High School	High School Coaches									
*Milazzo, Amanda	WMHS	JV Girls Soccer, Head Coach	Fall	1	1	1	\$6,724.00	Out of District	3/1/21- 5/1/21	
*Ms. Milazzo is the daughter of Suzanne Milazzo – SEA at Nassakeag										
Stuart, Ryan	WMHS	JV Boys Golf, Head Coach	Fall	1	1	1	\$5,206.00	In District	3/1/21- 5/1/21	
Williams, Louise	Gelinas	Asst. Var. Girls Soccer	Fall	3	5	9	\$7,160.00	In District	3/1/21- 5/1/21	
aajustment te	o 6/24 agenda	: assignmen	t ana salary	y cnange						
Athletic Coo	rdinators									
Whitehead, Tom	Gelinas	Athletic Coordin ator (8 months)	Sept-Feb June	, May-		4	\$11,654.40	In- District	Sept-Feb, May-June	
adjustment te	o 8/19 agenda	,	ites change	d due to s	sports sea	son dates l	peing changed			
Roarty, Karen	Gelinas	Athletic Coordin ator (2 months)	March/ April		-	1	\$2,913.60	In- District	March/ April	
		: effective do	ites change	d due to s	sports sea	son dates l	peing changed			
Supervision	Rate:	m								

\$28.75 /hr prior to 6:00 p.m.

\$43.14 /hr after 6:00 p.m. and on days school is closed

Scoreboard Timer: \$110.46 p. contest

All other times/scorers receive supervision pay rate

APPOINTMENTS OF CO-CURRICULAR SPONSORS

<u>Last Name</u>	First Name	Building	Activity	<u>Effective</u>	Rate	Not to Exceed			
Woodruff	Leia	Minnesauke	Wellness Club	10/20-5/21	\$1,553.00	\$1,553.00			
Woodruff	Leia	Minnesauke	Kids Care Club	10/20-5/21	\$1,553.00	\$1,553.00			
Keller	Rebecca	Minnesauke	Kids Care Club	10/20-5/21	\$1,553.00	\$1,553.00			
Sacco	Christine	Minnesauke	6 th Grade National Jr. Art Honor Society	3/21-6/21	\$776.00	\$776.00			
Mehler	Craig	Gelinas	Lighting Club	2020-2021	\$1,554.00	\$1,554.00			
*Mehler	Craig	Gelinas	Chamber Orchestra	2020-2021	\$2,690.00	\$2,690.00			
*Mr. Mehler is re	placing Alisa R	abbitt, BOE ap	proved on 8/26/20.						
*Volk	Daniel	Gelinas	Creativity Club	2020-2021	\$1,554.00	\$1,554.00			
*Mr. Volk is repl	acing Scott Rec	, BOE approve	d on 8/26/20.						
*Marotta	Christopher	Gelinas	Science Olympiad	2020-2021	\$1,554.00	\$1,554.00			
*Mr. Marotta is replacing Peter Schuchman, BOE approved on 8/26/20.									
*Maritato	Maria	Gelinas	Art Club	2020-2021	\$1,554.00	\$1,554.00			
*Ms. Maritato is	replacing Chris	Esser, BOE app	proved on 8/26/20.						

 $[\]ensuremath{^{**}\text{Please}}$ note, original advisors with drew and are consequently being replaced.

Silva	Michel	WMHS	Academic Challenges	2020-2021	\$3,575.00	\$3,575.00
Gelfer	Phil	WMHS	Club Bluegrass Club	2020-2021	\$1,101.00	\$1,101.00
Hein	James	WMHS	Bluegrass Club	2020-2021	\$1,101.00	\$1,101.00
Mr. Hein and Mr	r. Gelfer will be	e splitting the fu	Il stipend of \$2,202.			
Kowalenko	Randi	WMHS	Bookstore	2020-2021	\$2,104.00	\$2,104.00
LaMonica	Maryann	WMHS	Bookstore	2020-2021	\$2,104.00	\$2,104.00
Ms. LaMonica a	nd Ms. Kowale	nko will be spli	tting the full stipend of \$42	08.		
Stuart	Ryan	WMHS	Chess Club	2020-2021	\$2,202.00	\$2,202.00
Crispino	Lisa	WMHS	Cinnabar –	2020-2021	\$2,690.00	\$2,690.00
Smit	Michael	WMHS	Literary/Art Magazine Coding and Computer Science Club	2020-2021	\$1,101.00	\$1,101.00
Tam	Aaron	WMHS	Coding and Computer Science Club	2020-2021	\$1,101.00	\$1,101.00
Mr. Tam and Mr	r. Smit will be s	splitting the full	stipend of \$2202.			
Rogers	Steve	WMHS	Concert/School Event and Lighting/Sound	2020-2021	\$4,208.00	\$4,208.00
Contino	Linda	WMHS	Crew Concert/School Event and Lighting/Sound Crew Asst.	2020-2021	\$2,104.00	\$2,104.00
Hayes	Daniel	WMHS	Concert/School Event and Lighting/Sound Crew Asst.	2020-2021	\$2,104.00	\$2,104.00
Ms. Contino and	l Mr. Hayes wil	l be splitting the	full stipend of \$4,208.			
Baumann	Matthew	WMHS	D.E.C.A.	2020-2021	\$1,787.50	\$1,787.50
Littman	Ilene	WMHS	D.E.C.A.	2020-2021	\$1,787.50	\$1,787.50
Mr. Baumann an	nd Ms. Littman	will be splitting	the full stipend of \$3575.			
Porter	Cynthia	WMHS	Debate Team	2020-2021	\$2,202.00	\$2,202.00
Hatcher	April	WMHS	Diversity Club	2020-2021	\$2,202.00	\$2,202.00
Stuart	Ryan	WMHS	E-Sports	2020-2021	\$2,202.00	\$2,202.00
Hannifin	Danielle	WMHS	Ethical Care of Animals	2020-2021	\$2,202.00	\$2,202.00
Wilson	Bob	WMHS	Fishing Club	2020-2021	\$2,202.00	\$2,202.00
Quiros	Melissa	WMHS	French Honor Society	2020-2021	\$2,690.00	\$2,690.00
Kowalenko	Randi	WMHS	Girl Up Club	2020-2021	\$1,101.00	\$1,101.00
LaMonica	Maryann	WMHS	Girl Up Club	2020-2021	\$1,101.00	\$1,101.00
Ms. LaMonica a Dornicik	na Ms. Kowaie Jim	wmks will be spill	Creenbouse Club		\$2,202.00	\$2,202,00
Chesney	Alyssa	WMHS	Greenhouse Club Hebrew Culture Club	2020-2021 2020-2021	\$2,202.00	\$2,202.00 \$2,202.00
Bilek	Jamie	WMHS	History Club	2020-2021	\$2,202.00	\$2,202.00
Kost	Maureen	WMHS	HOSA – Future Health	2020-2021	\$2,202.00	\$2,202.00
			Professionals Club			
Michel	Silva	WMHS	International Culture Club	2020-2021	\$2,202.00	\$2,202.00
McNair	Michelle	WMHS	Italian Honor Society	2020-2021	\$2,690.00	\$2,690.00
Cowen	Kerry	WMHS	Kaleidoscope – Newspaper	2020-2021	\$9,332.00	\$9,332.00
Crispino	Lisa	WMHS	Kaleidoscope – Newspaper Business Manager	2020-2021	\$4,208.00	\$4,208.00
Goldberg	Annette	WMHS	Key Club	2020-2021	\$3,575.00	\$3,575.00
Tam	Aaron	WMHS	Math Team	2020-2021	\$2,690.00	\$2,690.00
Cowen	Kerry	WMHS	Media Club	2020-2021	\$1,101.00	\$1,101.00
Crispino	Lisa	WMHS	Media Club	2020-2021	\$1,101.00	\$1,101.00
Ms. Cowen and	Ms. Crispino w	vill be splitting th	ne full stipend of \$2202.			
Riggio	Clarice	WMHS	Model UN	2020-2021	\$1,787.50	\$1,787.50
Bilek	Jamie	WMHS	Model UN	2020-2021	\$1,787.50	\$1,787.50
Chapman	Jason	WMHS	Music Production and	2020-2021	\$2,202.00	\$2,202.00
Jimenez	Kathy	WMHS	Composition Club Muslim Student Association	2020-2021	\$1,101.00	\$1,101.00
Sheikh	Rizwana	WMHS	Muslim Student Association	2020-2021	\$1,101.00	\$1,101.00
			e full stipend of \$2202.			
Trettner	Jennifer	WMHS	National Art Honor Society	2020-2021	\$2,690.00	\$2,690.00
Russo	Stacey	WMHS	National Honor Society	2020-2021	\$3,575.00	\$3,575.00
Petermann	Gina	WMHS	National Honor Society Assistant	2020-2021	\$2,202.00	\$2,202.00
Baumann	Matthew	WMHS	Patriot League	2020-2021	\$1,101.00	\$1,101.00
Florio	Christina	WMHS	Patriot League	2020-2021	\$1,101.00	\$1,101.00
Matros	Nicholas	WMHS	Pride Club	2020-2021	\$2,202.00	\$2,202.00
Marra	Julianne	WMHS	Prom	2020-2021	\$3,743.00	\$3,743.00

Metrio	Jessica	WMHS	Prom	2020-2021	\$3,743.00	\$3,743.00					
Ms. Marra and M	ls. Metrio will b	be splitting the f	full stipend of \$7,486.00.								
Miller	Bryan	WMHS	Prom Business Manager	2020-2021	\$4,208.00	\$4,208.00					
Primerano	Lisa	WMHS	Red Cross Club	2020-2021	\$2,202.00	\$2,202.00					
Rogers	Steve	WMHS	Ward Melville Iron Patriots – Robotics	2020-2021	\$4,208.00	\$4,208.00					
Spinaris	James	WMHS	Ward Melville Iron Patriots – Robotics	2020-2021	\$2,104.00	\$2,104.00					
Suesser	Mark	WMHS	Ward Melville Iron	2020-2021	\$2,104.00	\$2,104.00					
Patriots – Robotics Mr. Spinaris and Mr. Suesser will be splitting the full stipend of \$4208.											
Sioss	Shannon	WMHS	S.A.L.T.	2020-2021	\$2,202.00	\$2,202.00					
Kowalenko	Randi	WMHS	S.H.A.R.P.	2020-2021	\$1,787.50	\$1,787.50					
LaMonica	Maryann	WMHS	S.H.A.R.P.	2020-2021	\$1,787.50	\$1,787.50					
Ms. LaMonica ar	nd Ms. Kowaler	nko will be split	ting the full stipend of \$35°	75.							
Serigano	Jennifer	WMHS	Science Olympiad	2020-2021	\$2,690.00	\$2,690.00					
Suesser	Mark	WMHS	Science Olympiad	2020-2021	\$2,690.00	\$2,690.00					
McCoy	Margaret	WMHS	Spanish Honor Society	2020-2021	\$2,690.00	\$2,690.00					
Martin	Marvel	WMHS	Spanish Honor Society	2020-2021	\$2,202.00	\$2,202.00					
McCaffrey	Virginia	WMHS	Assistant Stand Together	2020-2021	\$2,202.00	\$22,002.00					
Chow	Allison	WMHS	Buddies Club Student Government	2020-2021	\$4,208.00	\$4,208.00					
Kraemer	Dianne	WMHS	Student Government	2020-2021	\$4,208.00	\$4,208.00					
Edgar	Ginny	WMHS	Student Government	2020-2021	\$4,208.00	\$4,208.00					
Jimenez	Kathy	WMHS	Students United in	2020-2021	\$2,202.00	\$2,202.00					
Gelfer	Phil	WMHS	Faith Tri-M Music Honor	2020-2021	\$1,787.50	\$1,787.50					
Hein	James	WMHS	Society Tri-M Music Honor	2020-2021	\$1,787.50	\$1,787.50					
			Society	2020-2021	\$1,767.30	\$1,767.50					
			l stipend of \$3575.								
Favre	Maria	WMHS	Ward Melville Players	2020-2021	\$9,332.00	\$9,332.00					
Gott	Dianna	WMHS	Women's Forum	2020-2021	\$2,202.00	\$2,202.00					
Baum	Camryn	WMHS	Yearbook	2020-2021	\$9,332.00	\$9,332.00					
Solntzeff	Christine	WMHS	Yearbook – Assistant	2020-2021	\$4,208.00	\$4,208.00					
Anderson	Catherine	Setauket	Fit Club	10/20/20- 6/8/21	\$1,553.00	\$1,553.00					
Brady	Judy	Setauket	6th grade Safety Patrol	2020-2021	\$1,553.00	\$1,553.00					
Wall	Lisa	Setauket	Running Club (Gr 3)	10/16/20- 11/13/20	\$776.50	\$776.50					
Wall	Lisa	Setauket	Running Club (Gr 4)	10/22/20- 11/19/20	\$776.50	\$776.50					
Faughnan	Bridget	Setauket	Running Club (Gr 5)	10/20/2020- 12/1/2020	\$776.50	\$776.50					
Faughnan	Bridget	Setauket	Running Club (Gr 6)	10/19/20- 12/7/20	\$776.50	\$776.50					
Wall	Lisa	Setauket	Running Club (K, 1, 2)	1/4/2021- 5/31/2021	\$776.50	\$776.50					
Faughnan	Bridget	Setauket	Running Club (K, 1, 2)	1/4/2021- 5/31/2021	\$776.50	\$776.50					
Guez	Rich	Setauket	Sports Clinic	10/13/20- 6/18/21	\$1,553.00	\$1,553.00					
Guez	Rich	Setauket	Stage Crew	8/1/20- 6/30/21	\$2,167.00	\$2,167.00					
Campbell	Peter	Murphy	Animation &	9/28/20-	\$1,554.00	\$1,554.00					
Baker	Brian	Murphy	Technology Art Club	6/30/21 9/28/20-	\$1,554.00	\$1,554.00					
Campbell	Peter	Murphy	Audio-Visual Club	6/30/21 9/28/20-	\$1,554.00	\$1,554.00					
Knox	Betsy	Murphy	Book Club	6/30/21 9/28/20-	\$1,554.00	\$1,554.00					
Latman	Caroline	Murphy	Chamber Orchestra	6/30/21 9/28/20-	\$2,690.00	\$2,690.00					
Pollera	Anthony	Murphy	Choir (Girls Select)	6/30/21 9/28/20-	\$2,690.00	\$2,690.00					
Domino	Emma	Murphy	Community	6/30/21 9/28/20-	\$1,554.00	\$777.00					
Ferraro	Virginia	Murphy	Connections Club Community	6/30/21 9/28/20-	\$1,554.00	\$777.00					
Beauchamp	Tracy	Murphy	Connections Club Costume Club	6/30/21 9/28/20-	\$2,690.00	\$2,690.00					
Chernakoff	Emily	Murphy	Ecology Club	6/30/21 9/28/20-	\$1,554.00	\$777.00					
Chemakon	Limiy	mupny	Leology Club	6/30/21	Ψ1,554.00	Ψ					

Visser	Jillian	Murphy	Ecology Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
Baker	Brian	Murphy	Gaming/Strategy Games Club	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Tunkel	Vinny	Murphy	Jazz Ensemble	9/28/20- 6/30/21	\$2,690.00	\$2,690.00
Pahuja	Pamela	Murphy	Key Club	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Hill	Jeannie	Murphy	Kickline/Color Guard	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Mahan	Sara	Murphy	Literary Magazine	9/28/20- 6/30/21	\$1,554.00	\$777.00
Lin	Iris	Murphy	Literary Magazine	9/28/20- 6/30/21	\$1,554.00	\$777.00
Duca	Anne Marie	Murphy	Math Teams	9/28/20- 6/30/21	\$4,406.00	\$2,203.00
Boysen	Theresa	Murphy	Math Teams	9/28/20- 6/30/21	\$4,406.00	\$2,203.00
Strub	John	Murphy	Model U.N. Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
Pollera	Anthony	Murphy	Musical Production	9/28/20- 6/30/21	\$7,461.00	\$7,461.00
Sacco	Lisa	Murphy	National Junior Art Honor Society	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Casadei- Berwind	Daniela	Murphy	National Junior Honor Society	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Kollmeier	Lori	Murphy	Murphy Pride	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Visser	Jillian	Murphy	Science Bowl Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
Chernakoff	Emily	Murphy	Science Bowl Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
McGuire	Sue	Murphy	Science Olympiad	9/28/20- 6/30/21	\$5,798.00	\$2,690.00
Angermaier	Derek	Murphy	Science Olympiad	9/28/20- 6/30/21	\$5,798.00	\$1,554.00
Pahuja	Pamela	Murphy	Science Olympiad	9/28/20- 6/30/21	\$5,798.00	\$1,554.00
Campbell	Peter	Murphy	Set Design Club	9/28/20- 6/30/21	\$2,690.00	\$1,345.00
Campbell	Peter	Murphy	Sound & Lighting Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
Pollera	Anthony	Murphy	Sound & Lighting Club	9/28/20- 6/30/21	\$1,554.00	\$777.00
Gries	Tyler	Murphy	Student Government	9/28/20- 6/30/21	\$4,297.00	\$2,148.50
Hill	Jeannie	Murphy	Student Government	9/28/20- 6/30/21	\$4,297.00	\$2,148.50
Tunkel	Vinny	Murphy	Tri-Music Junior Honor Society	9/28/20- 6/30/21	\$1,554.00	\$1,554.00
Ockner	Ashley	Murphy	Wind Ensemble	9/28/20- 6/30/21	\$2,690.00	\$2,690.00
Geoninatti	Emiliano	Murphy	World Language Honor Society	9/28/20- 6/30/21	\$1,554.00	\$777.00
Golini	Kerri	Murphy	World Language Honor Society	9/28/20- 6/30/21	\$1,554.00	\$777.00
Garcia	Ed	Murphy	Yearbook Club	9/28/20- 6/30/21	\$4,297.00	\$2,148.50
Gilmore	Beverly	Murphy	Yearbook Club	9/28/20- 6/30/21	\$4,297.00	\$2,148.50
				0.00.21		

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	Effective	Stipend	Not to Exceed					
*Zeidman	Stacey	Academy	Additional .2 class, Resource Room	9/29/20- 6/30-21	\$22,880.14	\$22,880.14					
*Ms. Zeidman	was emerger	cy appointed by	Cheryl Pedisich for this assign:	nent.							
*Candreva	Candace	Gelinas	.2 overage, English	9/8/20- 6/30/21	\$27,267.12	\$27,267.12					
*Worthington	Thomas	Gelinas	.2 overage, Social Studies	9/8/20- 6/30/21	\$29,419.60	\$29,419.60					
	*Ms. Candreva is replacing Laura Leidahl and Mr. Worthington is replacing Christine Chase who were BOE approved for these assignments on 9/16/20.										
Kost-Rottler	Maureen	Academy	6th class, .1 Health	9/8/20- 6/30/21	\$15,010.00	\$15,010.00					
Pincus	Sadie	Arrowhead	6th class, .2 Music	9/8/20- 6/30/21	\$11,026.76	\$11,026.76					
Muzzonigro	Michele	Arrowhead	.1 overage, Art	9/8/20- 6/30/21	\$7,372.82	\$7,372.82					
Varrachi	Gina	District wide	Lead Teacher for Instructional Technology, 1st year	2020- 2021	\$2,797.00	\$2,797.00					
Hugues	Jason	District wide	Lead Teacher for Instructional Technology, 1st year	2020- 2021	\$2,797.00	\$2,797.00					
Campo	Angela	Arrowhead	Speech/Language Lead	2020- 2021	\$2,797.00	\$2,797.00					

Biscari	Brian	Murphy	TVSAA Mentor Pro	gram	2020-	\$1,000.00	\$1,000.00
Pimentel	Laura	North	Coordinator TVSAA Mentor for	Deidre	2021 2020-	\$1,000.00	\$1,000.00
Kost	Maureen	Country Mur/Gel/WM	Rubenstrunk TVSAA Mentor for	Kerry	2021 2020-	\$1,000.00	\$1,000.00
Pollera	Anthony	North	Kilkenny TVSAA Mentor for	Paul	2021 2020-	\$1,000.00	\$1,000.00
Connolly	Erin	Country North	Carattini TVSAA Mentor for	Vince	2021 2020-	\$1,000.00	\$1,000.00
*Russo	Stacey	Country Gelinas	Cereola .1 overage, ENL		2021 9/28/20-	\$11,082.43	\$11,082.43
	•			.1 D. 411.1	6/30/21	ψ11,002. 1 3	\$11,002.43
*Baron	Joshua	Gelinas	assignment by Chery	yi Pedisici	2020-	\$14,268.60	\$14,268.60
			.1 overage, Math		2021	\$14,200.00	\$14,206.00
		_	on 9/16/20. This is t		_	4.70.43 0	04.504.00
*Campau	Andrea	WMHS	6th class, .2 Math pr	rorated	9/8/20- 9/25/20	\$1,704.20	\$1,704.20
*Buys	Megan	WMHS	6th Class, Math .2, prorated		9/8/20- 9/25/20	\$965.48	\$965.48
*Downer	Matthew	WMHS	6th Class, Math, .2, prorated		9/8/20- 9/25/20	\$882.16	\$882.16
*Curtis- Dillon	Christine	WMHS	6th Class, Math, .2, prorated		9/8/20- 9/25/20	\$2,101.40	\$2,101.40
*McNamara	Laura	WMHS	6th Class, Math, .2, prorated		9/8/20- 9/25/20	\$3,520.02	\$3,520.02
*Ms. Buys, Mr. l	Downer, Ms.	. Curtis-Dillon, a	nd Ms. McNamara w	ere approv		for this assignr	nent. Ms.
Campau was app	proved on 9/1	16/20 for this assi	gnment. This is an a				
the absent emplo *Hannifin	yee's early r Danielle	eturn. WMHS	6th class, .2 Science	, Fall	9/1/20-	\$11,360.30	\$11,360.30
*Weiner	Claudine	WMHS	Semester 6th class, .2 Science	. Fall	1/29/21 9/1/20-	\$14,634.60	\$14,634.60
*Smith	Bill	WMHS	Semester 6th class, .2 Science		1/29/21 9/1/20-	\$15,010.00	\$15,010.00
			Semester		1/29/21		
*Dornicik	Jim	WMHS	6th class, .2 Science Semester		9/1/20- 1/29/21	\$14,334.60	\$14,334.60
*DiLorenzo	Stefanie	WMHS	6th class, .2 Art, Spr Semester	ring	2/1/21- 6/25/21	\$11,577.00	\$11,577.00
			ornicik, and Ms. DiL full year assignment				
information from		of the dates from	Tun year assignment	s to the sp	ectific semeste	i is due to upu	ateu
Catalfamo	Tammy	WMHS	SAT Prep Instructor	•	Oct-Nov 2020	\$1,442.00	\$1,442.00
McNamara	Laura	WMHS	SAT Prep Instructo	r	Oct-Nov 2020	\$1,442.00	\$1,442.00
Diehl	John	WMHS	SAT Prep Registrati	ion	Oct-Nov 2020	\$515.00	\$515.00
Diehl	John	WMHS	SAT Prep Supervisi	on	Oct-Nov	\$1,030.00	\$1,030.00
Alexander	Dawn	District-wide	Mentor for Remote		2020 2020-	\$10,000.00	\$10,000.00
Driscoll	Christina	District-wide	Elementary Program 7th class, .033 Rem		2021 2020-	\$3,782.98	\$3,782.98
Howland	Noreen	Arrowhead	Health Elementary Extra .066 library se	ection	2021 9/14/20-	\$6,359.94	\$6,359.94
Kinsley	Taylor	Minnesauke	(2 sections) Extra .066 library se		6/30/21 9/14/20-	\$5,447.74	\$5,447.74
•	•		(2 sections)		6/30/21	. ,	
Konczynin	Allyson	Mount	Extra .1 library sections)		9/14/20- 6/30/21	\$8,683.04	\$8,683.04
Lewis	Lisa	Nassakeag	Extra .066 library set (2 sections)	ection	9/14/20- 6/30/21	\$9,035.82	\$9,035.82
Dove	Ellen	Setauket	Extra .066 library set (2 sections)	ection	9/14/20- 6/30/21	\$4,799.70	\$4,799.70
				T OF			
			APPOINTMENTS Y EXTRA ASSI		NTS		
<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	Effective	e Rate	<u>Hours</u>	Not to Exceed
Camman	Cathy	North	PD Mentoring	2020-	\$941.70/	10 days	\$9,417.00
*Tamuk	Alexander	Country WMHS	Driver	2021 9/16/20-	day \$60/hr.	408	\$24,480.00
			Education, Fall and Spring, Instructor	6/30/21			
*Weik	Andrew	WMHS	Driver Education, Fall	9/16/20- 6/30/21	\$60/hr.	408	\$24,480.00
			and Spring,	5/30/21			
*Mr. Tamuk was	previously	BOE approved fo	Asst. Instructor or this assignment on	6/24/20. T	his is to incre	ase the number	r of hours and
to add Mr. Weik	as Asst. Inst	tructor. They are	emergency approved	by Cheryl	Pedisich.		
Kostis	Dean	Gelinas	Sound Club	2020- 2021	\$44.49/hr	. 42	\$1,868.58
Grippa	Christine	Gelinas	Detention	2020- 2021	\$44.49/hr	. 33.71	\$1,500.00
Rippe	Vincenza	Gelinas	Detention	2020- 2021	\$44.49/hr	. 33.71	\$1,500.00

Bostwick	Antionette	Gelinas	Detention	2020-	\$44.49/hr.	33.71	\$1,500.00
Roarty	Karen	Gelinas	Detention	2021 2020-	\$44.49/hr.	33.71	\$1,500.00
Borch	Kiyolena	WMHS	PSAT	2021 10/17/20	\$44.49/hr.	7	\$311.43
Chesney	Alyssa	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Coppola	Pat	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Cracchiola	Eileen	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Crispino	Lisa	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Downer	Matthew	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Drosselmeier	Theresa	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Faughnan	Bridget	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Gelfer	Phil	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Goldberg	Mary Rose	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Kowalenko	Randi	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
LaMonica	Maryann	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
McInerney	Alecia	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Petermann	Gina	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Porter	Cynthia	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Portuallo	Jean	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Preuss	Maryanne	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Sangiamo	Sue	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Solntzeff	Christine	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Strub	John	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Tullo	Pat	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Walker	Michelle	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Williams	Louise	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	7	\$311.43
Wolcott	Valerie	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Yasson	Carol	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Primerano	Lisa	WMHS	Proctoring PSAT	10/17/20	\$44.49/hr.	5	\$222.45
Needles	Tim	MESTRACT	Proctoring Coding Basics	2020-	\$90/hr.	1	\$90.00
Needles	Tim	MESTRACT	Augmented	2021 2020-	\$90/hr.	1	\$90.00
Needles	Tim	MESTRACT	Reality Basics Introduction to	2021 2020-	\$90/hr.	1	\$90.00
Needles	Tim	MESTRACT	Animation Microsoft	2021 2020-	\$90/hr.	1	\$90.00
			Makecode for Micro:bit	2021			
Raptis	Marisa	MESTRACT	Starving Obsession:	2020- 2021	\$90/hr.	30	\$2,700.00
			Looking Behind the				
			Mask of Youth & Eating				
Raptis	Marisa	MESTRACT	Disorders Seeing the Pain	2020-	\$90/hr.	30	\$2,700.00
кариз	1viarisa	WESTRICI	of Kids Who Self Harm	2021	ψ90/111.	30	Ψ2,700.00
Reilly	Kristen	MESTRACT	Let's Talk Articulation	2020- 2021	\$90/hr.	30	\$2,700.00
Reilly	Kristen	MESTRACT	Let's Talk Expressive	2020- 2021	\$90/hr.	15	\$1,350.00
Reilly	Kristen	MESTRACT	Language Let's Talk	2020-	\$90/hr.	30	\$2,700.00
•			Receptive Language	2021			
Soucier	Jan	MESTRACT	NYSTC Students with	2020- 2021	\$90/hr.	45	\$4,050.00
			Disabilities Certification				
			Extension Course Grades				
			Pre K-K				

Talhami	Natalie	MESTRACT	Teaching & Learning with Apple Pencils	2020- 2021	\$90/hr.	15	\$1,350.00
Talhami	Natalie	MESTRACT	& iPads iPad Basics: Using iPads in Your	2020- 2021	\$90/hr.	30	\$2,700.00
Tsavos Moorman	Maria	MESTRACT	Classroom Language Based Approach to Content Instruction for English Language	2020- 2021	\$90/hr.	30	\$2,700.00
Turri	Kim	MESTRACT	Learners Social- Emotional Learning in a Blended Classroom	2020- 2021	\$90/hr.	30	\$2,700.00
Turri	Kim	MESTRACT	Making Thinking Visible with	2020- 2021	\$90/hr.	30	\$2,700.00
Walsh	Daniel	MESTRACT	Google Tools PLC - Wonder Workshop Dot & Dash Robots in the	2020- 2021	\$90/hr.	2	\$180.00
Woodruff	Leia	MESTRACT	Classroom Positive Behavioral Interventions and Supports (PBIS) in the	2020- 2021	\$90/hr.	30	\$2,700.00
Wren	Cecile	MESTRACT	Classroom Emotional Intelligence, Reflective Practice and Theory of Self-	2020- 2021	\$90/hr.	30	\$2,700.00
Wren	Cecile	MESTRACT	First Adjusting Your Mindset: Be Passionate, Patient and	2020- 2021	\$90/hr.	30	\$2,700.00
Wren	Cecile	MESTRACT	Persevere Resources for Enhancing School Climate: Empathy, Compassion, Upstander Responsibility and Responsible & Ethical Decision	2020- 2021	\$90/hr.	30	\$2,700.00
Wren	Cecile	MESTRACT	Making Balance the Mind and Heart: Creating Resilient Schools that Address the Social, Emotional, Ethical and Academic (SEAL)	2020- 2021	\$90/hr.	30	\$2,700.00
*Curatola	Mona	Nassakeag	Kindergarten	2020-	\$57.89/hr.	30	\$1,736.70
*Gabriele	Ashley	Setauket	Screening Kindergarten	2021 2020-	\$57.89/hr.	30	\$1,736.70
*DeLorenzo	Heather	Mount	Screening Kindergarten	2021 2020-	\$57.89/hr.	30	\$1,736.70
*These are add	itional hours n	eeded for Kinders	Screening garten Screening and	2021 d were appro	oved for emerge	ncy appoint	ment by Ms.
Pedisich on 9/1 Lombardo		Districtwide	Open House - IT Support	9/17/20 &	\$109.21/hr	6	\$655.26
Varacchi	Gina	Districtwide	Open House - IT Support	9/22/20 9/15/20 & 9/22/20	\$104.53/hr	6	\$627.18
Hugues	Jason	Districtwide	Open House - IT Support	9/17/20 & 9/22/20	\$71.49/hr	8	\$571.92
Gerard	Maria	Mount	Before/After School Translating	2020- 2021	\$52.03/hr.	20	\$1,040.60

Eggleston	Hui Jing	Mount	Before/After School	2020- 2021	\$52.03/hr.	20	\$1,040.60
Geoninatti	Emiliano	Murphy	Translating Before/After School	2020- 2021	\$52.03/hr.	20	\$1,040.60
Metrio	Jessica	WMHS	Translating Adjusting to the New Normal: Best Practices for Integrating Technology	2020- 2021	\$77.76/hr.	15	\$1,166.40
Hugues	Jason	N. Country	EdPuzzle	2020- 2021	\$77.76/hr.	6	\$466.56
Varacchi	Gina	N. Country	FlipGrid	2020- 2021	\$77.76/hr.	6	\$466.56
Lombardo	Jeanine	N. Country	Fun with Pear Deck: Making Google Slides Intervactive!	2020- 2021	\$77.76/hr.	6	\$466.56
Bloom	Chrissa	Arrowhead	G Suite Foundations for Teaching Assistants	2020- 2021	\$77.76/hr.	15	\$1,166.40
Wall	Lisa	Setauket	Go Math and It's Digital Tools for K-5th Grade	2020- 2021	\$77.76/hr.	3	\$233.28
Bloom	Chrissa	Arrowhead	Google Forms	2020- 2021	\$77.76/hr.	3	\$233.28
Walsh	Daniel	Arrowhead	Google Slides and Pear Deck	2020- 2021	\$77.76/hr.	15	\$1,166.40
Varacchi	Gina	N. Country	Hyperdocs	2020- 2021	\$77.76/hr.	6	\$466.56
Harvey	Brian	Minnesauke	In-Service - "WeVideo" - Producing Videos to Help Enhance Classroom Learning	2020- 2021	\$77.76/hr.	15	\$1,166.40
Casadei- Berwind	Daniela	Murphy	Introduction to Pear Deck	2020- 2021	\$77.76/hr.	3	\$233.28
Castoro	Marisa	Minnesauke	Moving Forward with Google (Instruction for Teaching Assistants)	2020- 2021	\$77.76/hr.	6	\$466.56
Lombardo	Jeanine	N. Country	Nearpod: Empower, Engage, Collaborate	2020- 2021	\$77.76/hr.	6	\$466.56
Gustafson	Eric	Setauket	Teach Like a Pirate	2020- 2021	\$77.76/hr.	3	\$233.28
Cowan	Kerry	WMHS	Teaching and Writing 2	2020- 2021	\$77.76/hr.	30	\$2,332.80
Kinsley	Taylor	Minnesauke	Using the Virtual Reference Collection for Remote Teachers	2020- 2021	\$77.76/hr.	6	\$466.56

APPOINTMENTS OF 2020-2021 SUMMER ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	<u>Hours</u>	Not to Exceed
Varacchi	Gina	Districtwide	Summer Work - New Teacher Orientation	Summer 2020	\$731.73/ day	1 day	\$731.73
Hugues	Jason	Districtwide	Summer Work - New Teacher Orientation	Summer 2020	\$500.46/ day	1 day	\$500.46

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Length of Service
Alkon, Patricia	Nassakeag Elementary School/ SACC Child Care Assistant	9/22/20	12 yrs.
Faverio, Elena	Arrowhead Elementary School/ Monitor	10/1/2020	2 days
Gerogianis, Dianne	Mount Elementary School/ SACC Child Care Assistant	10/2/2020	3 yrs. & 1 mo.
Larkin, Kelly	Nassakeag Elementary School/ Monitor	10/16/2020	2 yrs. & 1 mo.
McDowell, Stephanie	R.C. Murphy JHS/ Special Education Aide	9/21/2020	1 yr. & 9 mos.
Resnick, Christine	Minnesauke Elementary School/ SACC Child Care Assistant	10/2/2020	9 mos.
Rubinstein-Koreh, Anya	Nassakeag Elementary School/ XACC Chil Care Assistant	9/23/2020	11 mos.
Shaw, Dana	Nassakeag Elementary School/ Monitor	9/21/2020	1 yr. & 3 mos.
Streb, Denise	Nassakeag Elementary School/ SACC Child Care Assistant	10/8/2020	5 yrs.
Worrell, Anita	Arrowhead Elementary School/ Monitor	10/2/2020	12 yrs. & 9 mos.

APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

Hanson, Robert Interim Director of Facilities III

Maintenance & Operations Replacing: James O'Hagan Related to current employee: No Annual Salary: \$700 per day

Effective: July 31, 2020 - August 28, 2020

Mr. Hanson was board approved from May 11, 2020 through July 31, 2020 on the May 6, 2020 board agenda. Mr. Hanson was emergency approved by Cheryl Pedisich, Superintendent of Schools to continue his assignment from July 31, 2020 through August 28, 2020.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Hedlund, Sharon 12 month Senior Account Clerk (Step 6/Level 5)

North Country Administration Center

Business Office

Replacing: Jennifer Catsoris (promoted) Related to current employee: No Annual Salary: \$53,312 (prorated) Effective: October 30, 2020

Fingerprint clearance has been received and is on file.

Custodial

Perfetti, Jeffrey Custodial Worker I (Step 1/Level 1)

Nassakeag Elementary School

Replacing: Christopher Paluch (transferred)

Related to current employee: No Salary: \$48,611/yr. (prorated) Effective: October 15, 2020

Mr. Perfetti is currently a substitute custodian and Dive Coach at Ward Melville High School. Fingerprint clearance has been received and is on file.

Food Service Worker

Shall, Victoria Part-Time Food Service Worker (4 hrs/day)

Ward Melville High School

Replacing: Heather Guise (resigned)

Minutes of October 14, 2020

Related to current employee: No

Salary: \$15.63/hr.

Effective: September 24, 2020

Ms. Shall was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Ms. Shall is currently a substitute food service worker. Fingerprint clearance is on file.

Guards

Jantzen, John Guard

District-wide

Replacing: Scott Blackburn Related to current employee: Yes

Salary: \$24.00/hr.

Effective: October 15, 2020

Mr. Jantzen is the cousin of Michael Jantzen, Assistant Principal at Gelinas JHS and cousin-inlaw of Leah Jantzen, guidance counselor at Ward Melville High School. Fingerprint clearance has been received and is on file.

Leonardi, Garrett Guard

District-wide Replacing: Lester Lee

Related to current employee: No

Salary: \$24.00/hr.

Effective: October 15, 2020

Fingerprint clearance has been received and is on file.

O'Hara, Sean Guard

District-wide

Replacing: Michael Sadecki Related to current employee: No

Salary: \$24.00/hr.

Effective: October 15, 2020

Fingerprint clearance has been received and is on file.

Monitors/Special Education Aides

Blaum, Kendra Special Education Aide (Step 1/Level 13)

Setauket Elementary School

New Position

Related to current employee: Yes

Salary: \$15.00/hr. Stipend: \$700.00

Effective: September 1, 2020

Ms. Blaum was a substitute SEA/Monitor in the district and was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is the daughter of Jack Blaum, Coordinator of District-wide Safety and Security. Fingerprint clearance has been received and is on file.

DeCarolis, Jennifer Monitor (Step 1/Level 3)

Minnesauke Elementary School

New position

Related to current employee: No

Salary: \$15.00/hr.

Effective: October 15, 2020

Fingerprint clearance has been received and is on file.

Faverio, Elena Monitor (Step1/Level 3)

Arrowhead Elementary School

Replacing: Lorraine Alexander (resigned)

Related to current employee: No

Salary: \$15.00/hr.

Effective: September 30, 2020

Ms. Faverio was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance has been received and is on file.

Minutes of October 14, 2020

Kenny, Christopher Monitor (Step 1/Level 3)

Setauket Elementary School

New position

Related to current employee: Yes

Salary: \$15.00/hr.

Effective: September 17, 2020

Mr. Kenny is currently a SACC Child Care Assistant. He is emergency appointed by Cheryl Pedisich, Superintendent of Schools. He is the son of Nancy Kenny, teacher at Mount Elementary. Fingerprint clearance has been received and is on file.

Kotarski, Lindsey Monitor (Step 1/Level 3)

Setauket Elementary School

New position

Related to current employee: No

Salary: \$15.00/hr.

Effective: October 13, 2020

Fingerprint clearance has been received and is on file.

School-Aged Child Care (SACC)

Ciullo, Maria Child Care Assistant (max 22.5 hours/week)

Nassakeag Elementary School

Replacing: Anya Rubinstein-Korch (resigned)

Related to employee: No

Salary: \$15.09 hourly (Step 1/Level 1)

Effective: October 15, 2020

Ms. Ciullo is currently a monitor at Nassakeag Elementary School. Fingerprint clearance is on

file

Kropp, Sunyoung Child Care Assistant (max 25 hours/week)

Mount Elementary School

Replacing: Dianne Gerogianis (resigned)

Related to employee: No

Salary: \$15.09 hourly (Step 1/Level 1)

Effective: October 19, 2020

Fingerprint clearance has been received and is on file.

Nappi, Breanna Child Care Assistant (max 25 hours/week)

Minnesauke Elementary School

Penlacing: Christina Pasnick (resigned)

Replacing: Christine Resnick (resigned)

Related to employee: No

Salary: \$15.09 hourly (Step 1/Level 1)

Effective: October 15, 2020

Fingerprint clearance has been received and is on file.

Peters, Erika Child Care Assistant (max 25 hours/week)

Mount Elementary School Additional Staff Needed Related to employee: Yes

Salary: \$15.09 hourly (Step 1/Level 1) Effective: September 29, 2020

Ms. Peters was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Ms. Peters is the daughter of Sherri Peters, SACC Supervisor at Nassakeag Elementary School. Fingerprint clearance has been received and is on file.

Zahed, Nasrin Child Care Assistant (max 25 hours/week)

Nassakeag Elementary School Replacing: Jason Novetti (resigned) Related to employee: Yes

Salary: \$15.09 hourly (Step 1/Level 1) Effective: September 30, 2020

Ms. Zahed was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Ms. Zahed is the sister to Lila Zahed, SACC Child Care Assistant at Nassakeag Elementary School. Fingerprint clearance has been received and is on file.

CHANGES OF STATUS

Clerical

Reilly, Kerry From: Account Clerk (Step 9/Level 4)

To: "Acting" Principal Account Clerk (Step 7/Level 6A) North Country Administration Center – Business Office

Replacing: Carolyn Sergio (resigned)

Salary: \$63,172 (prorated) Effective: August 24, 2020

Ms. Reilly assumed the role of "Acting" Principal Account Clerk due to the resignation of Carolyn Sergio and until the replacement for Carolyn Sergio is board approved.

Food Service Workers

McLaughlin, Faith From: Part-Time Lead Food Service Worker (Interim)

To: Part-Time Lead Food Service Worker

Minnesauke Elementary School Replacing: Barbara Schoulder

Salary: \$16.15/hr.

Stipend: \$1,500/yr. (prorated) Effective: October 15, 2020

Ms. McLaughlin is recommended as the Part-Time Lead Food Service Worker due to the resignation of Barbara Schoulder. She has been working as the Part-Time Lead Food Service Worker Interim since 9/8/2020.

Monitors/Special Education Aides

Bernabo, Ellen From: Special Education Aide (Level 11/Step 7)

To: Special Education Aide (Level 9/ Step 7)

Village Chabad School Salary: \$16.21/hr.

Stipend: \$700/yr. (prorated) Effective: September 8, 2020

Ms. Bernabo's hours reflect her change from 6.0 hours per day to 5.50 hours per day as a result of an updated recommendation.

Catanese, Elena From: Special Education Aide (Level 11/Step2)

Nassakeag Elementary School

To: Special Education Aide (Level 11/Step 2)

Minnesauke Elementary School

Salary: \$25.22/hr.

Stipend: \$700/yr. (prorated) Effective: September 29, 2020

School-Aged Child Care (SACC)

Chadderton, Jean From: "Acting" Assistant Supervisor (Step 1/Level 2)

To: Child Care Assistant (Step 19/Level 1)

Setauket Elementary School

Salary: \$16.54/hr.

Effective: October 19, 2020

Larkin, Kelly From: Child Care Assistant (Step 2/Level 1)

To: Assistant Supervisor (Step 1/Level 2)

Setauket Elementary School Replacing: Virginia Moore (retired)

Salary: \$22.00/hr.

Effective: October 19, 2020

Ms. Larkin is recommended to SACC Assistant Supervisor at Setauket Elementary School due to the retirement of Virginia Moore. Ms. Larkin is currently a monitor at Nassakeag Elementary School and will be resigning to accept this position at Setauket Elementary School.

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clerical

Conley, Diane Salary: \$14.00/hr. Effective: 10/15/2020

Fingerprint clearance has been received and is on file.

Custodians

DeAngelo, Jr., Robert Salary: \$14.00/hr.

Effective: 9/21/2020

Mr. DeAngelo is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance is on file.

Schenk, Daniel Salary: \$14.00/hr. Effective: 9/21/2020

Mr. Schenk is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint

Food Service Workers

clearance is on file.

Alvarado, Stephanie Salary: \$14.00/hr.

Effective: 10/9/2020

Ms. Alvarado is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance is on file.

Cary, Cynthia Salary: \$14.00/hr. Effective: 10/9/2020

Ms. Cary is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance is on file.

Dozier-Kreitzer, Veronica Salary: \$14.00/hr.

Effective: 10/8/2020

Ms. Dozier-Kreitzer is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance is on file.

Monitor/Special Education Aides

Shaw, Dana Salary: \$14.00/hr.

Effective: 10/15/2020

Ms. Shaw resigned her monitor position at Nassakeag Elementary School and asked to be on the SEA/Monitor Substitute list. Fingerprint clearance is on file.

Salary: \$14.00/hr. Sicignano, Monica

Effective: 10/5/2020

Ms. Sicignano is emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprint clearance is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Brunquell	Michelle	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Caruso	Alexis	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Choonawala	Sakina	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Gross	Kimberly	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45

Heimerle	Denise	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Kickel	Cathy	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Menten	Sue	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45
Sheikh	Rizwana	WMHS	PSAT Proctoring	10/17/20	\$44.49	5	\$222.45

SUMMER RECREATION PROGRAM RETURNING STAFF

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	<u>Effective</u>	<u>SALARY</u>	Assignment	Position	Fingerprints
*Heidrich	Brian	WMHS	7/6/20- 8/14/20	\$13.00/hr.	Counselor	Half-day	fingerprinted

^{*}Mr. Heidrich was emergency appointed by Cheryl Pedisich, Superintendent of Schools. His assignment was omitted from a list of Summer Recreation employees to be BOE approved.

AMENDMENT/REVISIONS

Monitor/Special Education Aide

Lasak, Diana Status: Special Education Aide (Step 1/Level 11)

Amendment/Revision: Salary

Date of BOE Approval: September 16, 2020

Ms. Lasak's salary was incorrectly stated at \$15.22/hr. and is corrected to \$15.00/hr.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, **Sub-Committee** and Accommodation

504 Plan Meetings of: March 12, August 26, 27, 28, 31, September 4, 8, 9, 11, 14, 15, 16, 17, 18, 21, 22, 23, 24, 25, 28, 29,

30, October 1 and

5, 2020

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: September 15, 17, 23, 25, 28,

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

October 1 and 6, 2020

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

INFORMATIONAL ITEMS OF **INTEREST**

There were no Informational Items of Interest

PUBLIC PARTICIPATION

There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 8:42 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk